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QUESTION 1

According to TOGAF, Which of the following is the usual approach for developing the Baseline Business Architecture if
no architecture or few architecture assets exist?

A. Bottom up
B. Envisioning
C. Extensive
D. Refactoring
E. Top down

Correct Answer: A

QUESTION 2

Which of the following describes a key objective of the Technology Architecture Phase?
A. To define the solution architecture needed to support the Application Architecture

B. To define technology components into a set of technology platforms

C. To define the Transition Architectures needed to achieve the Target Architecture

D. To develop a migration plan to deliver incremental capabilities

E. To select a set of technology products that will form the basis of a solution architecture

Correct Answer: B

QUESTION 3

Which one of the following describes classification methods for architecture and solution artifacts within the Architecture
Repository?

A. Architecture Landscape

B. Architecture Vision

C. Enterprise Continuum

D. Governance Log

E. Standards Information Base

Correct Answer: C
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QUESTION 4

Complete the sentence. TOGAF covers the development of four architecture domains, Application, Business, Data
and

A. Capability
B. Segment
C. Technology
D. Transition
E. Vision

Correct Answer: C

QUESTION 5

In TOGAF, what is the difference between an artifact and a deliverable?

A. An artifact contains one or more deliverables

B. Artifacts and deliverables are synonymous; there is no difference between them

C. Deliverables are prepared by the Project Manager, whereas artifacts are defined by the Architect
D. Deliverables are reusable, whereas artifacts are unique to a given architecture project

E. Deliverables are specified as contractual outputs from a project, whereas artifacts are not

Correct Answer: E
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